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FIRST HALF
(Marks : 50)

1. Answer any four of the following questions:

2x4=8
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a)

b)

Show that in a two-good world both goods
cannot be inferior.
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If PCC (Price Consumption Curve) 1is
horizontal, what can be said about the shape
of the demand curve?
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Write down assumptions of Perfect
Competition.
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d)

f)

What will be the shape of the marginal
revenue (MR) curve if demand curve is

rectangular hyperbola?
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What 1s the difference between expansion

path and i1socline?
TP oY @3] SRCIFRE T ARy [Fe
What 1s law of vanable proportion?
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2. Answer any three questions: 6x3=18
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Derive the equilibrium condition of a
producer who maximises output subject to a
given cost and interpret the equilibrium
condition. Does it yield the same result when
the producer minimises cost subject to a
given output? 5+1
ore [T AACE oo TR TeAmE
SR *6 [y T @@ @@ WS g we |
4 AT TS SRAMTR FNATE AR TR
R SR W O 6 @R T sflen 3w
Explain the condition under which Hicks and
Slutsky substitution etfect given the same
result.
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d)

3. Answer any two questions:
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Define isoquant. Show that the shape of the
expansion path under Cobb-Douglas
production function is a straight line passing
through the ongin. 1+5
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What 1s meant by stability of equilibrium?
Derive the conditions of short-run
equilibrium of a perfectly competitive firm.
Can there be super normal profit of this firm
in the long run? 1+4+1
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12x2=24
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a)
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Show that long-run average cost curve is the
envelope of the short-run average cost curves
but the long run marginal cost curves is not
envelope of the short-run marginal cost
curves. 12
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b)

d)
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What 1s total product curve of an input? Does
it depend on other mputs used also? Show
the distrinction between different stages of
production with diagram 1+1+10
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What 1s supply curve? Explain the method
of drawing short-run supply curve of a firm
under perfect competition.

How is the competitive firm's supply function
affected in case of i1mposition of specific
tax of Rs. 7 per unit? 2+(5+5)
QIS el 2 Afeforifsrer qreita @ @iek
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Explain how equilibrium 1s reached in a
competitive market. When 1s such an
equilibrium stable? Distinguish between
Walrasian and Marshallian concepts of
stability of equilibrium. 6+1+5
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SECOND HALF

(Marks : 50)
4. Answer any four questions: 2x4=8
@~ BRG 2riE Ten wie
a)  What 1s liqudity trap?
REGIER U
b) From the linear consumption function,
C=atby, derive the savings function and plot
it is a diagram.
M (ele S @Fel 2 @ C=atby, &
ALY-SAFFOT AN AT T QIR 9F
ifbtas R ©f 2frgs 9
¢) What 1s NDP at market price and at factor
cost?
G & GR Teoive I o6 Sreredld Semme
ISP T2
d) What is the condition of stability of income
in simple Keynesian model?
21/Eco. [5] [Turn over]

e) Distinguish between GNP and GDP.
GNP @3z GDP-3 sz #iefqy =4
f)  What 1s the relation between bond price and
rate of interest?
J@F N € qWE FEF [ T e
5. Answer any three questions: 6x3=18
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'"If MPC exceeds unity, stability of the
equilibrium level of income cannot be
determined and the multiplier will be

negative' — Explain this statement.
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Derive the money multiplier and explain the

factors that determine its value.
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Distinguish between fixed investment and
inventory investment. What are the motives
behind inventory investment? 4+2
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d)

6. Answer any two questions:

Write down the different sources of money
supply. Why M, i1s called narrow money and
M, 1s called broad money?

s @il &fon Sotef @1 M, & Sie@lef
=1 (narrow money) 43 M, & 38 5l (broad
money) I (& ?

Describe briefly the circular flow of mcome.
Give two examples of injection into the

circular flow of income. 4+2
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a)
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1) Show that transaction demand for
money 1s positively related to income
but negatively related to interest rate.
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11) Discuss critically the Baumol-Tobin
theory of the transaction demand for
money.
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b)

d)
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Explain briefly the meaning of 'double
counting' in national income accounting and

show how it can be avoided. 4+8
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What is paradox of thrift? What 1s the logic
behind 1t? Explain 1t with the help of suitable
diagram. Is this logic applicable in the

developing countries? 2+2+6+2
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What 1s multiplier? Briefly discuss the
effects of an 1ncrease 1n autonomous
investment expenditure on the equilibrium
level of income. 2+10

YOE PIE AT FAGS KW W @ (oA

G WD 2 (A O AT O ALTHA
DAl S

[8]



